Ql Statistics Revision Sheet Worked Solutions

a) i) Discrete Numerical ii) Nominal Categorical iii) Continuous Numerical
iv) Ordinal Categorical
b) i) Face-to-face Interview/Telephone Interview/Online Questionnaire e.t.c.

ii) Advs: can explain the questions/can explain the questions/people more honest when not
face-to-face.......

Disadvs: people might not be honest face-to-face/can be expensive/questions can't be
explained.......

c) Assign every student in the school a number. Draw the numbers out of a hat or use the
random number generator on your calculator to pick the numbers randomly.

Q2.

a) b)
No of People in Family
2|5
3| 4,6
411,1,4,7
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81| 2,3
Key: 4|1 = 41%
c)i) d)
Height (cm) Vs Weight (kg)
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ii) Shape of the distribution is symmetric | Height (cm)
(or normal) if) Strong positive correlation - so generally,
the taller you are, the heavier you are!
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b) Mode or Median. There is a mode and neither are affected by the outlier 94.

Q4.
i TAt UL
i) Range | Mg e
O"GO t%—_é'gz 30
6o — 12O 60_*;13: 90
170 -lg0 "2 - 5o
180 - 240 |2 -4 4
240 — 300 E'ﬁ—aoc':z?’o
|
= mm = (’SOX Cf) —J—(%x 12) + (ISox 13) + (Zzo x lS) +(2?oxé>
9+12 + 18 + 15 + &
= 2% 4+ logo + 27200 + 3lsp + lé20
bo
60

ii) The 6 students in the last category (240 - 300mins) are definitely included as they spend
over 4 hours studying. The maximum number of students that could have spent over 3.5 hours
would be if ALL 15 students in the second last category spent longer than 3.5 hours. So to
answer the question, the maximum number of students in total that could have spent over 3.5

hours is 15 + 6 = 21 students.



i) Rcmge = Max \/alue — /VJ;O \/a,]ue
=19 - ¢
-[13]

i) Need T cearange data info order Fist

La uQ
é) ?‘/@) q/ q/ q) “) IFL, @J ,é, )‘i

- ” \/Q'ues

Lower Quartile = MNedian 155 valves
S—"—'- = ?)rd Va'n =
2

U(’f’(r QWME'Q = Med]m o.’, 7:’f 5 \mlues

3% value ‘:@
2 IQR:= I1I§5-§

Q6.

Need to calculate mean first:
(0x2)+(1x4)+(2X8)+(3x4)+(4%x2)

2+4+8+4+2 -
So, standard deviation will be:

2

Mean =

1.09

2+4+8+4+72

\/(0 —o (122 + 222 + 3-2)2 + (4—2)2 _

SFST, (iy,
i) From diagram above, 68% of the class lie between 62.5% and 67.5%.

ii) From the diagram above, 95% of the class will be 2 standard deviations either side of the
mean

iii) From diagram above, the percentage of students 1 standard deviation above the mean will
be half of 68%, which is 34% => no. of students in the class = 34% of 30 = 10.2 = 10 students
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